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Abstract:This article combined relative spacetime concept and absolute spacetime
concept.This article take time dilation is a real effect as the precondition,demonstrated
the contradiction between time dilation and constacncy of light velocity and the
contradiction between time dilation and limit of speed.I proposed a thought experiment
to test special relativity.

Variation is the nature of time. Time is relative and also absolute.If all the atoms of
an object change slowly, then the time of the object will slow down. Similar to all
happened things on earth like a movie ,when the movie is played in a speed of 0.5 times,
the time on the earth will slow down by half. If all the particles of a person change
slower with a same times,then the time of the person will slow down,if all the particles
of a person change faster with a same times,then in other peple’s observation this
person’s time is speed up.If all particles on earth except a person,changing speed more
faster,then the person will “time travel to the future”.If all the particles’ state except a
person,become the same state as the past time,then this person will “time travel to the
past”.My definition of time is that everyone has their own "time".We are living in the
same space, so the universe has a uniform time, that is, one second is defined as the
duration of 9,192,631,770 cycles of radiation corresponding to the transition between
the two hypersonic energy orders in the ground state of the undisturbed cesium-133
atom.

According to Einstein’s theory of special relativity,if an observer on the ground
observes a high speed aircraft ,the phenomenon he observes is that the time of the
aircraft is slow down,if there is a light beam in the aircraft ,the time of the light beam
will also slow down,the time of the light beam slow down reflected in the speed of the
light beam slows down.Assuming an high speed aircraft with enough area,the aircraft
perpendicular to the ground,there is an observer on the ground ,the observer opens light
source and make the light beam parallel to the ground,then the observer that on the
ground will see the speed of the light beam is less than c,otherwise after the aircraft
back to the ground,couldn’t explain the position of the light beam. According to
Einstein’s theory of special relativity,after a high speed traveller back to the ground,he
will find that the people on the ground spent more time than himself,so during the
journey, if he observes the ground, the observed phenomenon is that the time on the
ground become faster, that is, the changing speed of all particles on the ground become
faster.It means in the observer’s view,the changing speed of all particles are faster than
the changing speed of these particles that in the observation of people on the ground.If
the changes on the ground become faster, the speed of light on the ground observed by
the person in the aircraft will also become faster. This is conflict with Einstein's theory
that the speed of light is constant. If the light speed of ground that measured by the
observer in the aircraft is c,then couldn’t interpret after the observer back to the ground
what position the light beam that perpendicular to the aircraft is.If time dilation is a real
effect, then the velocity of objects on the ground that measured by the observer in the
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If the speed of objects that measured by the observer on the ground is equal to the speed
of objects that measured by the observer in aircraft ,after the observer in the high speed
aircraft back to the ground,the observer couldn’t see the ground is “future
state”.Assuming 3 seconds on the ground is equal to 1 second in aircraft because of
time dilation, then when the clock pointer on the ground moving to 3 seconds the clock
in high speed aircraft indicate 1second. In high speed observer’s view ,the moving
speed of clocks that on the ground are faster than the moving speed of the clock that in
aircraft. The moving speed of objects on the ground that measured by the observer in
aircraft is faster than the moving speed of objects on the ground that measured by the
observer on the ground,then after the observer in aircraft back to the ground and see the
ground is“future”.According to Einstein’s theory of time dilation,if an aircraft in speed
of infinitely close to light speed,what the observer in the aircraft observed is the
movement speed of objects absolutely faster than light speed. For example,an immortal
people keep walking for several centuries,the observer in the aircraft with speed of
infinitely close to light speed will see the person moving faster than light,because in the
theory of relativity,an observer who is in a speed of infinitely close light,in his
observation one second,the time of ground maybe pasted several centuries.What the
observer in aircraft with infinitely close to light speed observed is the changing process
of ground of several centuries.What the observer see is the ground pasted several
centuries in one second,the distance that the immortal people walked must longer than
light distance in one second ,so if an observer in a speed of infinitely close to light
speed,what he observed must faster than light speed, even if the observer looks clocks
on the ground,in the observer’s view the spinning speed of pointer of these clocks are
faster than light, so the theory of relativity is logically contradictory.(Notes:The
direction of high speed aircraft is perpendicular to the ground,because it could avoid
length contraction or velocity stacking or relativity of simultaneity.)

Experimental idea, control time: A person holds a laser sourse and turns it on, and then

records the scene. After that, the speed of light is measured by playing the video at 2
times the speed

s/t=v,

v,=s/0.5t

s/t=0.5v,

V=204

Or



v1t/ty=v, If it is played at 2 times speed t,=0.5t; v,=2v,
If it is played at 2 times speed, the speed of the light becomes 2c.

This experiment is for simulate in theory of relativity the scene of an obsever with
infinitely close to light speed observing ground.
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